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Learning from Home
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Minute 28

Name: ... ... Dater

—

. Count by 2s. Write the missing even number.

2. How manycoinsinalle =] bl
e £OINS (10) b :

3. 80+10=_.....
5. Write the time shown on the clock.

Quarterpast ... or ... 15
6. Tyler has 5 robots. He gets 4 more robots for his birthday.

How many robots does Tyler have altogether? ... robots

DI DM i g
35958 959
& + 4

Circle: True or False
For Questions 8 and 9, write the time shown on the clock.

8. Half past ... or.... .30
9. Half past ... or.... .30
10. Complete the fact family. 7 +5=12 12—......

S5+7=12 12-7=35




Menu
Hamburger $5.00 Slice of cake $2.80
Hot Dog $4.50 Potato chips $1.60
Hot Chips $3.00 Bag of lollies $2.50
Crumbed fish $4.00 Milkshake $3.90
Pineapple fritter $1.20 Soft Drink $1.00
Pizza $6.00 Coffee $2.00

. Frank ordered 2 hot dogs and a pizza. How much change did he get from $20.007

. Sarah bought a pineapple fritter, a soft drink and slice of cake. How much did it cost?

. Timothy bought a hamburger, hot chips and a milkshake. How much did it cost?

. Genevieve ordered a coffee, 2 slices of cake and some crumbed fish.

How much change did she get from $30.007?

. Aaron bought one of everything on the menu! How much did it cost him?




SUMMARISINGIEV]

1. Look at the pictures below of fruit bought yesterday at the school canteen.

Colour each type of fruit the same colour.
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2. Represent the above information on the survey chart below using tally marks.

Fruit Tally Total
3. Answer these questions.
F _.-":‘.

[a] How many students bought apples? ( }'-’,‘i wL
(0] How many students (c) How many students :_L Tl ‘r|

L —— *

.--"Fr ST |

bought pears? bought oranges? (e % Y,

[d) Twelve students bought a (e) Four students bought a

[fl How many more students bought mandarins than oranges?



Optional - Challenge Activity

Emoji Multiplication Mosaic

Multiplication 2x and 10x tables.

Solve the maths problems to reveal the hidden picture. Each answer has a

special colour:

4, 8,12, 18, 80, 90, 100 = yellow

22, 30, 40, 50, 110 = black

14, 16, 24, 120 = purple
6, 10, 20, 60 or 70 = blue

Tx2 | 2x8 | 12x2 (10x10| 2x2 | 4x2 |10x8 [12x10| 7Tx2 | 8x2
2x12 | 2x9 | 8x10| 2x6 |10x9 | 9x2 | 2x2 |10x10| 2x4 [12x10
1W0x9 (10x710[10x8| &4x2 | 2x9 | 2x2 | 2x4 |[9x10| 9x2 |10x8
9x10 | MMx2 [ 4x70 | 10x3 | 9x10 | 2x4 [5x10 [10x17 | 10x4 | 8x10
2x4 2x3 2X5 2x2 Lx2 Ox2 [10x8 | 1x10 | 2x10 [ 10x3
9x2 [10x6 | 7x10 | 10x8 |10x8 | 2x4& 2x2 Ix2 S5x2 2x4
2x2 | 10x1 | 2x10 (10x10|10x5 | 2x71 |9x10 [10x7 | 2x3 | 2x2
1W0x8 | 6x10 [ 10x7 | 9x170 | 3x70 | 4x10 [10x8| 2x5 | 1x10 | 2x4
12x10| 2x4 | 2x2 | 9x2 [9x10| 2x4 | 9x2 [ 9x10 [10x170| 2x7
Tx2 | 2x8 [12x10| 9x2 [10x8 |[10x10| 9x2 [12x10| 2x12 | 8x2
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Name: .

1. Write the time shown on the clock.
Quarterpast ...__..or......15
2. Write the number thirty-three. ...
For Questions 3 and 4, circle the digitin the tens place.
3. 68
4. 84

5. How many months are in 1 year? ... months

6. 16+2= .

For Questions 7 and 8, use greater than (>) or less than (<).

10. Write the missing number.

s 860,70, 80, 90




056 | 6%6 | 876 | L6 | 9%6 | S%76 | 176 | €76 | TY6 | LY76
O%6 | 6E6 | BE6 | LE6 | 9E6 | SE6 | WE6 | EE6 | ZEbH | LE6
0£6 | 626 | BZ6 | LZ6 | 926 | 926 | %726 | €26 | TZ6 | L6
0Z6 | 6l6 | 8l6 | LL6 | 916 | Sl6 | 716 | €16 | ZL6 | LL6
Ol6 | 606 | 806 | LO6 | 906 | 506 | 706 | £06 | Z06 | LOG
006 | 668 | 868 | L68 | 968 | 568 | 768 | £68 | Z68 | L68
068 | 688 | 888 | /88 | 988 | 588 | ¥88 | €88 | Z88 | 188
088 | 618 | 818 | L8 | 9/8 | S8 | %7/8 | €18 | T.8 | LI8
O/8 | 698 | 898 | /98 | 998 | 598 | ¥98 | €98 | 798 | 198
098 | 658 | 8598 | 198 | 998 | 598 | ¥98 | £98 | 298 | 198
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LD WITH TRADING

When two numbers add up to more than
10, we need to trade the 10 ones for 1 ten Tens Ones
and write it in the tens column. Look at the - o
Y al ey o B
example. % £ 3 QD 8 T?J
8+6=14 sothe 10fromthe /o el
. . 'M—_I- PEE B/ (L -
number 14 is traded into the 1 (e I L};W

N (Fan 2

r:'= i tens column and added with —

I the tens. POOIDE ﬁ?r‘
7 | e el ::f

1. Add these two digits numbers and remember to trade.

(a) (b} (c) (d]
Tens [Ones Tens [Ones Tens [Ones Tens [Ones
i ! 1 9 2 B 3 o
* ) (=) @
1 4 1 & 1 B 2 4
(e) (f) o) (h)
Tens |Ones Tens |Ones Tens |Ones Tens |Ones
3 g9 5 3 4 B B 7
- ® (+) .
2 6 3 a 1 G 1 4
(i) (j) (k) (1)
Tens |Ones Tens |Ones Tens |Ones Tens |Ones
5 | 7 | 3 | 4 4 | 9 1715
() () (: k)
3 B . g 4 2z 1 B

™ On the back of this sheet, set these addition sums out vertically and solve them.
bt (a) 35+ 28 (b) 56+ 17 (c) 46+ 39 (d) 67 +23
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Minute 30

Name: .

oeoo.... Date: ...

[ May December February January ]

1. Circle the name of the first month of the year.

2. 20-8=......

3. Tabby has 8 kittens. Bootsie has 5 kittens. How many more kittens
does Tabby have than Bootsie? ... kittens

4. Write the time shown on the clock.

For Questions 5 and 6, write the words in order.
5. second first third
6. fifth sixth fourth e,
For Questions 7 and 8, circle the greater number.
7. 89 98 8. 33 13

9. Write the number eighty-five. ...

/\

10. Circle the rectangle.




Addition and Subtraction Wheels

Add or subtract the numbers to the middle number.




EXGJ COUNTING

1. Count by 2s to 100 and colour the numbers in blue. Count by 4s to 100 and
circle the numbers. Count by 5s to 100 and X the numbers.

&

1 2 3 4 5 6 7 8 9 10

1M |12 |13 | 14 | 15 |16 | 17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30
31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
51 | 52 | 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60
61 | 62 | 63 | 64 | 65 | 66 | 67 | 68 | 69 | 70
N |72 |73 |74 |75 | 76 | 77 | 78 | 79 | 80
81 | 82 | 83 | 84 | 85 | 86 | 87 | 88 | 89 | 90
91 | 92 | 93 | 94 | 95 | 96 | 97 | 98 | 99 | 100

2. Fill in the missing numbers, You may like to use the number chart to help you,

(a) 2, 4, 10, 14, 16, 22, 26, 30, 34,
, 38, 40, 41, 48, b2, 54, , b8, 60, b4, B8,
72,74, 80, 84,86 92, . 98, 100.
™,
(b) 4, 8, 16, 24, 28, 38, 48, ! .
a fs‘iﬂfﬁ .llll
56,60, 68,72, 80,88, _ 100, I ~'~:~—"
(¢) 5 10, 20, 30, 35, 45, \E‘Sg
s

60, 70, 80, 95, . O\ —ﬁ
k: 7\



Optional — Challenge Questions
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Minute 31

Name: o

1.

Use the bar graph to complete Questions 2 and 3.

10.

.. Date: . ...

Draw the hour and minute hands to show 3.15.

Children's eye colour

How many children have brown eyes? ... children

Do more children have blue eyes or brown eyes? ... EYyes

1M+8=....

Keesha has 15 books. She has read 11 of the books. How many

books hasn't she read? ... books

How much money altogether? $.......

b+b6+b6=.....
Circle the number that is less. 45 52
Write the next odd number, 3,5, 7.9, ...

Write the months in the comrect order.

AR JUNE Oy e e




[ILUEGGEINTE] BLOCK AND BAR GRAPHS .@9

1. Look at the block graph of 25's birthdays and answer the questions below.

Birthdays

January | February | March August (September| Octaber |Mowember| December
Month

(2] Which month has the most birthdays?

(b) Which month has no birthdays?

(c] Which month has four birthdays?

(d) Which months have only one birthday?

e} How many more birthdays are in March than June?

2. Look at the bar graph of the Easter egg hunt and answer the questions below,

lares , )
2 bridge: EASTER
3 Thomas EGG
& lohn HLUNT

Beth

(a) What is the bar graph showing?

(b} Who found the most eggs and the least eggs?

[¢) Who found three eggs and four eggs?

[d) How many eggs did John find?

My . . _
E-:iul_u.ErF:E]ﬂn the back of the sheet, write three things you would need to do if you were

L4 LOsurvey the class about the most popular juice flavour.



[k
Wi .

LG5I WITH THREE DIGITS 4N

P

1. Add these 3-digit numbers. Remember to start in the ones column. =L __»

[a) (b) () (d)
IHhrﬂrHt L Oned Hundreds | Tens Oz IHuhdlrd-: Terd LELEH IHururr:H Tk Dned
1 0 3 1 4 B 2 5 2 2 0 3]
@ O ® ®
1 4 7 1 ) 7 1 . 4 1 9 2
(e] (f) (g) (h)
IH...rq-HIg. Tens Ones Hundreds | Tens Omas Iand"dg Ters Cines IHu-qrm Ters Ornes
3 g 2 5 3 4 4 1 B 7
o) ) () ()
Z 3] 0 3 4 B 1 3 7 2 3 1
[i] () (ki )
IHu-u-rH-. L1 Ones Eundieds | Tens Ones IHundnrd-: Teri Dings IHurﬂrrﬂ1 Ter Dines
£5 4 5 7 €4 4 3 s %6 4 4 9 54 7 2
® ® ® o
$3 4 0O é 52 ¢4 B 4 $2 4 2 B $3 4 2 b

2. Add these 3-digit numbers. This time you may need to trade 10 ones for 1 ten or 10 tens
for 1 hundred.

e.4. 348
+ 270

618

(d) $2.39
+$2.26

*
Lt

(a)

(e]

2449

+ 135

$4.35
+$3.48

(b) 152
+ 175
(f) 3671
+%1.68

(c)

(a)

360

+ 180

$5.09
+$3.79

On the back of this sheet, set these sums out vertically and solve them.

Remember, you may need to trade.

(a) 257 + 118

(b) 506 + 217

(c) $4.94 + $2.65

(d) $3.97 + $2.05
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Minute 32

Name:

1.

2,

13+46=........
Circle the number that is less. 78 88

For Questions 3 and 4, circle the digit in the ones place.

68
23
Circle the correct time.

3.00 3.15 3.30

A rectangle has 4 sides. Circle : True or False
15+20=.....

Alfredo has 15 computer games. He bought 5 more games.
How many games does he have altogether? . games

50-10=.....

. Whatis the last month of the yvear? ...




[V AND WORDS

1. Write the numbers for these words.

[a) thirty-seven (b) one hundred and four
(c) three hundred and twenty-nine_ [d) six hundred and fourteen
() nine hundred and eighty-five Ff@@
I_. |II N
[f] three thousand, two hundred and forty-six fh' A
[g) five thousand, four hundred and ninety-one II' ~~;':_ ﬁ‘l
i i 7%
[h) eight thousand, seven hundred and sixty-two L__s- W
: NN,
2. Write the words for these numbers. ey
[a) 63 (b) 109
[c) 495 (d) B17
(e) 1230 (Al 4781
[g) 6029 (h) B412
3. Draw lines to match the words with the numbers.
[a) three hundred and fifty-six . = B153
[b) two thousand, four hundred and eleven . = 356
[c) nine hundred and one . * 2411
[d) eight thousand, one hundred and fifty-three = 901
A

On the back of this sheet, see how many little words you can make by rearranging
Lt the letters in the word THOUSAND:



GRAPHS

1. Look at the bar graph showing the number 20
of animals on Mrs Lamb's farm and answer

the questions. 18
(a) How many cows are there? 16
14
(b) How many horses
does she have? 12
(c)] Which animal does 10
she have the mostof? g
;@f‘ ,\{dJ Which animal does 6
- &, she have the least of? A -
\ J are there than horses?
Q_{ﬂ _ cows horses sheep pigs ducks
el

2. Record the number of baby animals there are on the farm by colouring the bars on the
bar graph. Use a different colour for each type of animal.

calves = 7 foals = 2 lambs - 9 piglets = 6 ducklings = 5

9

8

7

b

o

4

3

2

1

calves foals lambs piglets ducklings
(a) Which baby animal is there the most of? ?“'
w )"

(6] Which baby animal is there the least of? ; = lk iﬂ

[c) How many baby animals are there altogether?
e

[.:@Luer:ipE] Record, in the form of a bar graph, pets students in your class have.
L mf®

__,-,E ( .__._

-




Qptiohal — Challenge Questions

VRl ixh gl el BY TWO

1. Count and colour by 2s on the hundreds chart. 1l2lalalslel7]alalin
(a) The numbers coloured are also called 1111271311411511611/7/18119120
2122123124 (25|126|27 2829|330
numbers. 3132133134351 3637 3839140
_ 41142143 (4445146147 (4849|550
(b) The Sth number coloured is c1.82|53lcal55| 56|57 58| 50l g0
(c) The 10th number coloured is 6116216316416516616/7 68 631 /0
;E,_-f{" Y o ] FUV 7273074757677 7B /9| B0
o NI, 81)82(83|84|85(86|87|88|89|90
P ...L.J—'
) 91|92|93|94|95|96|97|98|99[100
2. Complete the number sentences.
CICTROECTIIE W W P ST T = A2
B o | sanananess] W Ew
2% = 2x = 2 2x =
3. Fill in the 2 times tables below.
[a) Ix2=__  (d) 4x2=___ (g 7x2=___ |(j) 1W0x2=___
[b) 2x2=___ e) Bx2=_—__ |[h) Bu2=___ k] Mx2=____
[c) I3x2=__  [f) Bx2=_—_ 1] 9u2=_— l] 12x2=___
4. Complete answers for these number sentences using the 2 times table.
[a) 2x1=___ (e} 2x = 1] X
(b) 2x2=__ (fl 2x = (1) X
(c) 2x3=___ (g) X = (k) X
) 2x = (h) X = (1) X

[EHALLERGE] _

L% in the answers of the 2 times tables?

What constant pattern can you see appearing




